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(1) 90° - 100 °C 2 105°- 110 oC
(3) 115°- 120 o (4) 125°- 130 °c

Specific heat of quartz among the
different soil constituents is

(1) lowest

(2) highest

(3) similar to other constituents
(4) variable

The pF value of saturated soil and oven
dry soil is

(1) 0and 14
(3) 1and 14

(2) 0and7
(4) 1and7

The available water retained in soj] is
between

(1) 0to 3 bar

2) ~1to-1/3 par
(3) 15t0 30 bar
(4) -1/3 to —15 bar

At field capacity the moisture is held
with soil water potential

(1) <1 bar (2) <0.5 bar
(3) <1/3 bar 4) >1/3 bar

In gravimetric method of soj] moisture
measurement, the soil is oven dried at

(1) 90° - 100 °C (2) 105°-110 °C
(3) 115°-129 °C ) 125° - 130 o¢
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Which of the following method of
measurement of soil moisture s
considered as check for all other
methods ?

(1) Electrical conductivity method
(2) Tensiometer method
(3) Gravimetric method

(4) Neutron probe method

Estimate the percent moisture in a
given :

Weight of moist soil + box =200 gm
Weight of oven dry soil + box =160 gm
Weight of empty box — 50 gm

(1) 22.22% (2) 40.60%

(3) 36.36% (4) 36.84%

If wire is formable but soil mass is
easily deformable, then the soil is

(1) Non-plastic
(2) Plastic
(3) Slightly plastic

(4) Very plastic

Moisture content of soil at a point
where the soil water mass flows under
an applied force and fails to retain its
shape is called

(1) plastic index
(2) non-plastic
(3) lower plastic limit

(4) upper plastic limit
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(1) ¥ (Hue)
(2) 9 (Value)
(3) shiAT (Chroma)

(4) ¥ Ud 3 (Hue and Value both)
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(1) affgperse o
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10.
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12.

13.

Presence of silica, lime and other salts

in soil, the colour of soil appears like
(1) dark coloured (2) brown coloured

(3) red coloured (4) light coloured

Presence of organic matter and iron
oxides in the soil, the colour of soil

appears like

(1) red colour
(2) brown colour
(3) dark colour

(4) yellow, red colour

Which of the following represents the
purity or strength of colour in Munsell

colour chart ?

(1) Hue

(2) Value

(3) Chroma

(4) Hue and Value both

Identify the 1 : 1 clay mineral of soil among
the following :

(1) Vermiculite clay
(2) Kaolinite clay
(3) Montmorillonite clay

(4) Chlorites clay

01 (Agriculture Chemistry)
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15.

16.

17

3
(1) NO, >OH >H,PO,” >SO,
(2) OH >H,PO,” >S0,”” >NO;"
(3) SO, >NO; >OH >H,PO,”

(4) H,PO,”>S0,”  >NO; >OH

sefiv g geredl H ey &
Tt w1 femer g 2 aen fafmeiie
Hifgam (Na) % Teh fadt Y 5T oat @

(1) Ca** (2) Mg
(3) H" (4) K7

et Herd e dqw Fsiie @1 EC <
4 dsm’!, ESP> 15Td pHAM > 8.5 a0l
Terd fore 2ufi 7 SrReft ?

(1) wavfE

@ aif=

(3) waviig i

(4) 3TefivE &R (Degraded alkali)

Terd freht Tag W e U @ feu
T 2 T ITH FAE HIW B Wl
HEATIT &

(1) i e

(2) el e e

(3) & e

(4) "R
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14.

15

16.

17.

The general relative order of anion

exchange is

(1) NO;” >OH >H,PO, >80,
(2) OH >H,PO, >SO, >NO;"
(3) SO, >NO, >OH >H,PO,"

(4) H,PO, >SO, >NO; >OH"

In case of degraded alkali soil, there is
a leaching of saline — sodic soil occurs
and part of exchangeable Na is
frequently replaced by

(1) Ca™ (2) Mg™
(3) H @) K*
The soils having EC < 4 dsm™,

ESP > 15 and pH more than > 8.5 the
soils is

(1) Saline

(2) Alkali

(3) Saline alkali
(4) Degraded alkali

Soils having Grey brown upper crust
and are hard on walking are known as

(1) Saline soil
(2) Saline alkali soil
(3) Sodic soils soil

(4) Normal soils soil
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SR S "igar (. /T o) S i
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(1) >1.5fy. / feam
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\[Ca*”“ + Mgt
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19,

20.

21.

The saline and alkali soils fall in which
order ?

(1) Entisol
(3) Molisol

(2) Alfisol
(4) Aridisol

The saline and alkali soils fall in which
soil order ?

(1) Orthids and Argids
(2) Albolls and Xerolls
(3) Agqualts and Humults
(4) Andepts and Ochrepts

The boron concentration (mg/kg)
unsafe for plant growth

(1) > 1.5 mg/kg
(2) 0.75- 1.5 mg/kg
(3) 0.7-0.25 mg/kg
(4) <0.2 mg/kg

U.S. Salinity Laboratory developed the
concept of SAR, that is equal to

Nat

(1)
JE&H +Mg*t
2

Nat
Catt+Mg*t

(2)

Ca

@) ——
’Na+ + Mgt
2
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22. TemaeT 3RRA TEhe (FeSOs - TH20) Ted
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24,

25.

26.

ST ST SR e G g U & forerm
BTEAT a1 8 ?

(1) 1.0e ) 0.5732

(3) 162 4) 0.802

=g % ot § O, HCO,~ W Cat*
quT Mg SRA R AET 1,4,2.5WF 1.5
mel-! & | ES:, &R RSC warsd

(mel™)
1) 0.1 2) 10.0
(3) 0.01 @) 1.0

TTeh - ciel STSRATII /gEehih 7 > 2.3

g
(1) s (2) 7&H

(3) H (4) <pH HEEH

e qur Tenesw (Rt

gtiee faeen (DRIS) fopa Ssmfes gra
femr g ?

(1) femfrm () =affom

(3) dferh (4) s

3G TATEH 1 A9 Fargd S e (N2)

=1 ST (NH;) # afafia s 2
(1) 9= 2) TS
(3) TTEEISS (4) IR
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22,

23.

24.

23.

26.

The amount of iron sulphate
(FeSO4 - 7TH20) in tons is equivalent to 1.0
ton (one ton) of gypsum to improve soil
(1) 1.0ton (2) 0.57 ton

(3) 1.62ton (4) 0.80 ton

The irrigation water contains CO;™ ~
HCO;~, Ca™ and Mg™ion1,4,25&
1.5. Calculate the RSC in irrigation
water (mcl™1).
(1) 0.1 (2) 10
(3) 0.01 @ 1.0

Area with

nutrient index value is > 2.3, then

The nutrient index value :

(1) high (2) medium

3) low (4) low medium

Diagnosis and  Recommendation
Integrated System (DRIS) approach

was provided by
(1) Mitectierlich’s (2) Beaufils

(3) Liebig’s (4) Wallace

Name the enzyme responsible for
reducing nitrogen (N2) to ammonia
(NH3).

(1) Peptase
(3) Nitrogenase

(2) Urease
(4) Amylase
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29.

30.

31

3R =TEE % ©d H =rEe o qY ST
I S 8l Al feadt e # e
TSI R =TEe o @d # fhe 61 Sl
27

(1) 10-20kgN/ha

(2) 20-30kgN/ha

(3) > 50 kegN/ha

(4) 30-40kgN/ha

= 1§ o Y coedl B TEd S9Tel
N #firhrer (KgN/ha/year) S & ?
(1) qreft
(3) FEATEK

(2) =&

(4) 3IAHITHI

71 # NO,” — NO,~ % affadlishtor %

o e 1 & o T gesia SRRl @ 7
(1) TEIEHAN (2) ATggEERT
(3) SEHHET (4) USSHfeR—m

yfepan it feefl diveh—awa =l St T
(organic) ¥ WSl 3TEEAT (inorganic or

mineral) o seed! &, HaerTd! 2
(1) TEARFRIT  (2) SHREHHIA
3) frerdssm  (4) dRRIETESEH

NO, & N, 31aT N, 0 3= Ffsharn st

gersiiany] il weRyd g e g,
HEATd! B

(1) firremsemm (2) R
(3) SHEATERIR (4) SACIATSSRH

217.

28.

29.

30.

31.

If azolla is grown in rice field along
with rice crop, then how much nitrogen
is fixed by azolla in rice field ?

(1) 10—20 kgN/ha
(2) 20 -30 kgN/ha
(3) > 50 kgN/ha

(4) 30— 40 kgN/ha

Which legume crop fix highest
N (kg N/ha/year) ?
(1) Groundnut (2) Cow pea

(3) Clover (4) Alfalfa

Bacteria responsible for oxidizing
NO,” — NO; in soils

(1) Nitrosomonas (2) Nitrobacter

(3) Pseudomonas (4) Rhizobium

The process of conversion of organic
form to inorganic form (mineral form)
of nutrient element is called

(1) Nitrification (2) Denitrification

(3) Mineralization (4) Volatilization

The processes of reduction of NO5 to
N, or N,O mediate by micro-organism
is known as
(1) mineralization
(2) nitrification
(3) denitrification
(4) volatilization
01 (Agriculture Chemistry)
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33.

34.

35.

36.

37.

Gersiia St 3T 71eTm § Fe2t — Fedt

(%= 3 Sites) ifadie & fordl Rmer 2
(1) ST (2) UESTEeE
(3) dEEfeE  (4) InUEE

JAFE. AR AFHAEST (VAM)
= § ¥ #9991 g@ qve-ae @6l
STIINN0 & § 919 I Jeg e ?

(1) Fe (2) Cu

(3) Zn (4) Ni

34 gersiie &1 A1 2 STl 6 S
off Uepdt T TETH 8

(1) gEEieE  (2) Adeibed
3) BEHAW  (4) F¥REER

ST 9§ i E 31T S TET I & g1 Bl

T TTeH i galfees gfkaar wdl 8 ?
(1) &= 50 — 70 p (Mue)
(2) ¥ <50 p (Mue)

(3) T 70-90 n

(4) T >90

foroem <1 gerrefierar gt 8

(1) 5% 2) 50%

(3) 0.25% 4) 0.10%
w2 fremm o wewt (S) il T Bl @
(1) 21% Q) 23%

(3) 26% 4) 16%
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33.

34.

33

36.

3

The bacteria responsible for oxidizing
Fe?* — Fe3* (ferrous to ferric form)
under acidic environment

(1) Pseudomonas (2) Thiobacillus

(3) Lactobacillus (4) Orthobacter

Arbuscular
(VAM) increase uptake of

Vascular Mycorrhiza

(1) Fe () Cu

(3) Zn (4) Ni

Identify the microb which have also
control the plant disease.

(1) Thiobacillus (2) Lactobacillus
(3) Pseudomonas (4) Orthobacter

The

observed in which type of soil particle

highest enzymatic activity is

(clay size) ?

(1) clay 50— 70 p (Mue)
(2) clay <50 p (Mue)
(3) clay 70—-90 n

(4) clay<90p

Solubility of gypsum is
(1) 5% (2) 50%
(3) 0.25% (4) 0.10%

The Sulphur (S) content in pure

gypsum is
(1) 21% 2) 23%
(3) 26% 4) 16%
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42.

43.

357 Ttz 1 i (Zn) 6 AT B R
(1) 21% (2) 23%
3) 20% (4) 16%

et i @re (FYM) | s, $iehRE
P,05Td TIeTel K, O h1 STy HTT Biedl 8
(1) 1.0, 0.6 3T 1.0%
(2) 2.0,1.0 3R 0.5%
(3) 0.5,0.2 3 0.5%
(4) 3.0,2.0 3 1.0%

T <ht w1 S @eer gl 1 et BT
ey o feped fe@ar 2 7

(1) Iwivad ) Ffeeuwd
3) fFwE  (4) RAGH

Sferep o feriste (B.NLF.) fore g&d
T o RV FGdl 8 ?

(1) Cu (2) Zn

(3) B (4) Mo

=ad % @d § S bl FH g B areit
By diur % SR T frw T @ fewrs
e ?

(1) TS
(3) A T H

() feiTres
(4) ATATIH

fopar diwes oo <61 St @ Y SR
I T 2 9T N8 ) Sgar T S 2
(Stunted growth) 7
(1) Na
(3) Mo

) Cl
4) N
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38,

39.

40.

41.

42.

43.

The 7Zn content in ZnSOs (Zinc
sulphate)

(1 21% 2) 23%

(3) 20% 4) 16%

Farm Yard Manure (FYM) have N,
P,0s and KO approximately

(1) 1.0, 0.6 and 1.0%
(2) 2.0, 1.0 and 0.5%
(3) 0.5,0.2 and 0.5%
(4) 3.0,2.0 and 1.0%

Deficiency of N in plant causes
yellowing of
(1) upper leaf

(3) middle leaf

(2) lower leaf

(4) whole plant

Biological Nitrogen Fixation (B.N.F.)
is catalized by

(1) Cu
3) B

) Zn
(4) Mo

Due to deficiency of Zn causes Khaira
disease in rice field, the disease caused
of rice field appear

(1) necrotic

(2) yellow coloured

(3) copper brownish coloured
(4) reddish coloured

Nutrient deficiency of which nutrient
causes chlorosis and stunted growth :

(1) Na (2) Ci
(3) Mo (4) N

01 (Agriculture Chemistry)
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49.

e i w2 Hi gy # Fra dives o B
HEeUl YfieRT Bl @ ?

(1) FEEN)  (2) BEHE (P)
(3) die’ (K) (4) HEAST (Mn)

= 3 @ o 1 Nivs o did) H FET
1 S g sfva U @ wfateresar
YA HT 2 7
(1) e
(3) R

(2) BEHRHE
(4) hfcwam

T 1 9 19 91 OIS O IRt SR adn
SHIfvreRT fereet! 6 e w1 aeh AT e ?

(1) N
(3) Zn

2) K
(4) Ca

= 9 @ =l 91 Jives a Feiiifhet ae
SRITIEIH &l Geh 8 7
(1) N
(3) Ca

(2) Mg
@ K

g ThT <l TET H HIEHRY 1A H 5
fordt afteraa faftr s St 2 2

(1) Irier ey

(2) EviE gar

(3) I T hoohH Hal

(4) dSs @ e

3t ot & & P o Fredon fm
SE ?

(1) NaHCO,8RT (2) NH,F g/

(3) NH,CIEU  (4) Na,CO;EM
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45.

46.

47.

48.

49.

Which nutrient stimulate the root
growth of plant ?

(1) N @) P

3) K (4) Mn

Which of the following nutrient impart
resistance to plants against fungal and
bacterial diseases ?

(1) N 2 P
3) K 4) Ca
Which of the plant nutrient is

constituent of cell wall and essential to
stability to cell membrane ?
(1) N 2) K
(3) Zn 4) Ca

Which of the following nutrient is

constituent  of  chlorophyll and
chromosome ?

(1) N 2) Mg

(3) Ca “4) K

In which type of soil Olsen’s method
for phosphorus determination is used ?

(1) Acidic soil
(2) Saline soil
(3) Neutral and calcareous soil

(4) Degraded alkali soil

Extraction of P by Brays method is
done by

(1) NaHCO, (2) NH,F

(3) NH,CI (4) Na,CO,



50.

al.

52.

33

DTPA =it 1 form Trgar & g&q e
adl o Fd fRaT AT ?

(1) 0.0005M (2) 0.05M

(3) 0.005M (4) 05M

TR AT Grerer (KC/) e Od JTe] <hl
el o fordl Suger T &

(1) CI T & Hror
(2) K =t erefididt & s
(3) HET 34T B T BT

(4) I ST 1 BH & BRI

Freferfia 3 & < e e & e
s1fres oTE STt 8 7

(1) Seuse dige

(2) TS ErEd

(3) T HEe

(4) STl HaTE Higa

gersi (SEEaEsR) S % 20 °C @
40 °C a1z § 9ad 8, HEAd 8

(1) oHBE

(2) HiSHEA

(3) WTEHIGE
(4) TR YHTHEA
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50.

31.

52.

53.

The DTPA extractant concentration is

used to determine micro-nutrients
(1) 0.0005M (2) 0.05M
(3) 0.005M 4 05M

The (KC/) murate of potash is not
suitable for tobacco and potato because

of

(1) ClI toxicity
(2) K toxicity

(3) costly fertilizer

(4) not readily available

Which type of soils are covering largest

area of India ?

(1) Laterite soil
(2) Deseret soil
(3) Alluvial soils

(4) Black cotton soils

The micro-organism (bio-fertilizer)
grows at the temperature 20 °C to 40 °C

are called

(1) Thermophile
(2) Mesophile

(3) Psycrophile

(4) Hyper thermophile
01 (Agriculture Chemistry)
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58.

ifi <1 iz i @re # NPK & 7= 2t 2
N P K

1y 0.5 03  0.5%

2) 3.0 10 2.0%

(3) 30 25 1.5%

@ 07 15 12%

I 6t g2 19 Bl &

(1) CH, H, 0,W CO,
(2) C,H,, H, CO, TN,
(3) CO,, H,, O, TN,

(4) CH,, CO, H,WN,

& et (52 @re) $A § e awEi
1 T AET AT 8 7
(1) P had
(3) NwK

(2) P Ca
(4) PUI Mg

o SEhal el gaRll § SE-En
TR T QT #h HEE 7S ST B
EENGES) EERE]
P,0;
(kgha™)
10-30
22-56
22-56
22-56

0.C%

(1) 0.5-1.0
2) 0.5-1.0
(3) 0.5-0.75
4) 0.5-0.75

K,O (kg ha'!)
>25

>80

>56

120-280

fse pH B W CaCO, #I HET JaT #
T BT B 2

(1) <7.0
(3) <84

@) >7.0
@) >8.4

01 (Agriculture Chemistry)
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54.

55,

56.

ST.

58.

Amount of NPK in poultry manure :

N P K
1) 0.5 03 05%
@) 30 1.0 20%
(3) 30 25 15%
@) 07 15 12%

Biogas is combination of following
gascs :

(1) CH,4, H,, 0, and CO,

(2) C,H,, H,, CO, and N,

(3) CO,,H,,0,and N,

(4) CH,, CO,, H,and N,

Bone is rich source of
(1) P only (2) PandCa
(3) NandK (4) Pand Mg

The soils having medium fertility will
contains organic carbon, phosphorus

and potash
Available  Available
P,05
0.C% (kgha'!) K,O (kgha)

(1) 0.5-1.0 10-30 >25

(2) 0.5-1.0 22-56 >80

(3) 0.5-0.75 22-56 >56

(4) 0.5-0.75 22-56 120-280

The CaCO, is commonly absent in the

soils having pH
(1) <7.0 2) >7.0
(3) <84 4) >84




89.

60.

61.

62.

63.

64.

TEA Td T T § wure @l g e
(1) OTstE= (2) WIFH
(3) HESHR (4) FEES

39w ° 9 yerd # wge & ford

EYT=I0T °eh aidl &
(1) 1.720 2) 1.750
(3) 2.205 (4) 1.724

Iiesh U9 i HUS < g ga1 H
frepren ST 8 7
1) N,
3) 0.C

@) K0
(4) P,0O

et § K,0 (drer) i st wwn fg
@i <l A ) gl & 7

(1) s=Imse

(2) afigase

(3) e

(4) HAREHTSS

YR 9T grg 99 & aoe (AR
g Yehl ATedt Bl 8
(1) 40
(3) 10

2) 30
4) 20

SRR H W GIERTE a1 e
wer # @ shan: TR faemas g et
|8 ?

(1) wifeam wefiee & NaHCO, g1

(2) Na,CO, d wrH fS= g

(3) NaHCO, 3 THIies Tf¥s gr

(4) NaHCO, 9 wr fisie gr

14

59.

60.

61.

62.

63.

64.

| (1) 1.720

The dominant mineral of sand, fine
sand and course silt soils

(2) Mica

(4) Quartz

(1) Pyroxine
(3) Feldspar

Conversion factor of organic carbon to
organic matter
(2) 1.750

(3) 2.205 4) 1.724

Walkley & Black method is used to
determine

(1) N,
@) 0.0

2) K,0
4) PO,

High amount of K,O (Potash) in the
soil indicate the presence of

(1) Illite

(2) Vermiculate

(3) Chlorite

(4) Montmorillonite

What is the normality of concentrated
hydrochloric acid (AR grade) in
general ?
(1) 40
(3) 10

) 30
4) 20

Available phosphorus (Olsen’s method)
and available potassium extracted from
soil in laboratory respectively

(1) Sodium acetate and NaHCOj,
(2) Na,CO; and Morgan reagent
(3) NaHCOj, and acetic acid
(4) NaHCO, and Morgan’s reagent
01 (Agriculture Chemistry)



65. wamTEn | e fafe (Method) & gar

66.

67.

68.

T T4 e e ST 8 ?
(1) Jviewd fafergra

(2) areh ud s faftr gro
(3) ewehfed fafr g

(4) Teeheitsa WETHE fafer gra

eI H BIOHIE i 3T TTET 8 T
¥ ge Uieeh avd Gyl bl T e A ?
(1) Cu¥d Ni (2) FeUWd Zn
(3) MnUdB (4) Niwgcd
TeheEd  UIeREW  wETE  (Alk
KMnO,) fafer Sit 16 7y # Suetey wm
TAHE S R TR AR g, AR
(1) 3fesA gl

(2) SEW

(3) G TS AT g

(4) Gora T FET g

DTPA (YHUIfees 3rE9iNoT Qe Hiel
iex) fafer grr gem dives ot B S
w6 fafy fpm dfsp gru s @ 2
(1) e & =1 g

(2) fored @ Aree g

(3) SgW

(4) A"

01 (Agriculture Chemistry)
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65.

66.

67.

68.

Laboratory method of  sulphur

identification in soil is

(1) Olsen’s method

(2) Walkley and black method
(3) Turbidity method

(4) Alkaline permanganate method

Excesses of phosphorus in soil may cause

deficiency of which micro-nutrients ?
(1) Cu&Ni (2) Fe& Zn

(3) Mn&B (4) Ni&Cd

The alkaline potassium permanganate

method (Alk. KMnO,) for

determination of available nitrogen (N)

in soil was given by

(1) Olsen

(2) Bray

(3) Subbiah and Asija
(4) Subbiah and Makhija

The determination of micro-nutrients

on atomic  absorption  spectro

photometer by DTPA was given by
(1) Walkley and Black

(2) Lindsay and Norwell

(3) Bray’s

(4) Olsen’s



69.

70.

71.

el & el grr Ca?* <l GH:FAT9T H

smivy o & & fRm ww o # @

7

(1) Hifamge >
q=eHIfeTEe > die

(2) HimfEERe > fic > HNAEe
o T

(3) e > FaAferme > 3se >
HieHINAMTEE

@) e > sk > Wl >
aftigerse

= ° 9 form =y g Feares sea
AR THAR ?

ECiW
S(ECg) — ECiw

(1) LR =

ECsE
S(ECgg) - ECsoil

2) LR=

ECiW
3) LR===
3) ECiw — S(ECgp)

(4) LR =ECiw x ECsoil

I Toneft gy w1 wifeam fafme g
(SAR) = 25.0 & a1 Gifgam it am
FIgT (ESR) &
(1) 0.398
(3) 0.425

2) 0375
(4) 0.596

16

69.

70.

5

The case of replacement of Ca®" from

colloids by plant uptake varies in order :

Kaolinite > Illite >

M

Montmorillonite > Peat

Montmorillonite > Peat >

2

Kaolinite > Illite

Peat > Kaolinite > Illite >

3)

Montmorillonite

Peat > Illite > Kaolinite >

4

Vermiculite

Leaching requirement can be estimated

by which of following relationship ?

ECiW
(1) LR=FEC,) - ECiw

ECsE
@ LR=gEC,,) - ECsoll

ECiW
ECiw — S(ECqp)

(3) LR=

(4) LR =ECiw x ECsoll

If the Exchangeable Sodium Ratio
(SAR) of given soil is 25.0, then

calculate the ESR.
(1) 0.398 (2) 0375

(3) 0.425 (4) 0.596

01 (Agriculture Chemistry)



72.

T

74.

73,

76.

Ife geTH ESR = 0.39 & 1 35T ESP i
T BT

1) 36% 2) 26%
(3) 32.0% 4) 40.0%
SR Torelt & er 6! Sr=sT e 3 Tl

10.0 T e <t srreverssar &t 8, at
4% (Elemental Sulphur) 1 feha-t
HTAT <l STTEwehal B8R ?

(1) 08T
(3) 28T

2) 1.8T
4) 20T

QWi d C, Hg O i fepafi amn a8 7
(1) 95-96%
(2) 80-85%
3) 90 —95%
(4) 85-90%

T TS T aret aten # N sl drga
gl 8

(1) 0.1-0.5%

2) 1-5%

(3) 0.5-1%

4 5-7%

S 1 UGN ad LHST WieH Td <
i i Tt ot & qr aees il
FITT LT 8 ?

() N ) P

3) Ca 4) K

01 (Agriculture Chemistry)
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72.

73.

74.

75,

76.

The exchangeable sodium ratio is 0.39,
then ESP of the soil will be

(1) 36% (2) 26%

(3) 32.0% (4) 40.0%

If requirement of 10 T gypsum is
needed to amend the soil, then element
sulphur will be required

(1) 0.8T ) 1.87

(3) 28T 4 20T

Carbon (C), Hydrogen (H) and Oxygen (O)
constitute about in plants

(1) 95-96%

(2) 80-85%

(3) 90—-95%

4) 85—-90%

The N concentration in N sufficient
plant varies :

(1) 0.1-0.5%

2) 1-5%

3) 05-1%

4 5-7%

The nutrient element regulate the

opening and closing of stomata and
transformation of nutrients ?

(1) N 2 P

3) Ca 4 K



T

78.

79.

80.

TR (S) "2 aret 31 ufre < wet
H g = &

(1) TR,

2) Toad, fmemsd w@ wEdhE

(3) Towd, famerss e afuada

(4) Taudm, At ug stied=g

IR 12 Kcal ST &1 IISUGERE g §
HUTEd &I W 98 i 9T 3 (Molecule)
T WUfEd AT 2 ?

(1) ADP (T.g.91.)

(2) ATP (v.&.dt.)

3) €H50,

4) feperm

Mn <h s} & g &1t U 2
(1) SEH T e
(2) Tehwex 7 dieft fafa T
(3) weH TTE wie™
(4) 39 afvlq g+t T

afe Tt & T3 %1 T T 1.5 (39)
M gm3 80— 10 cm &S I Th
BFE eI T WK kg # BT

(1) 2.2 %106 ..

(2) 1.5 x 10 fs.7m.

(3) 2.25 x 106 fep.am.

(4) 3.0 x 106 fep.7m.

18

77.

78.

79.

80.

Sulphur containing amino acids in
mustard are

(1) Auxines
(2) Cysteine, Cystine and Phytines
(3) Cysteine, Cystine and Methionine

(4) Cysteine, Methionine and Auxines

If 12 k cal energy is accumulated in two
pyrophosphate bond, then which
molecule stores that energy ?

(1) ADP
(2) ATP
(3) CZH,,0,

(4) Ketones

Mn deficiency causes

(1) Grey speck of oat

(2) Speckled yellow of sugar beet
(3) Marsh spot of pea

(4) All of these

If bulk density of soil is 1.5 (one and
half) M gm™3, find the weight of
0 — 10 cm depth of one hector soil in kg.

(1) 2.2x10%kg
(2) 1.5x10°kg
(3) 2.25x10%kg
(4) 3.0 x100kg

01 (Agriculture Chemistry)



81.

82.

83.

84.

Terell 7T i ST ST (FC), 85 &
(PWP) Ud 39eTeY A H TaY §d15d |
(1) FC=AWC-PWP

(2) AWC=FC-PWP

(3) PWP=FC-AWC

(4) AWC=PWP-FC

fepa TSt qIefie Eh W Fe 139 Fet2
T gedAdr g ?
(1) 0.1890.15 (2) 0.38¥0.32

(3) 0208028 (4) 0.28¥0.22

Tt gt A fefires e sfeen-
T g | 388 3 (Ustic) forass for
SEM TR ?

(1) T aTIshe % SRCH

(2) THEE FAH

(3) ART=SH aRH (e AHT)

(4) Tore o s H (@hier)

it wrqe fF9 wEer gro samer O o
FHeSTa Bl ], S &H T 9 % ATl
AREEwEE ?

(1) g % i g

(2) St gl g

(3) I < gl g

(4) & Toer wfei g

01 (Agriculture Chemistry)
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81.

82.

83.

84.

The relationship among the Field
Capacity (FC), and
Available Water Capacity (AWC) is
(1) FC=AWC — Wilting Point (PWP)
(2) AWC=FC-PWP

(3) PWP=FC-AWC

(49) AWC=PWP-FC

wilting point

The Redox potential Eh of Fe "3 to Fe*?

at which change in form occur ?

(1) 0.18t00.15 (2) 0.38100.32

(3) 02010028 (4) 0.28to0 0.22

The Nomenclature of soil is typic hyper
thermic ustipssment is, then the ustic

stand for

(1) temperature regime
(2) textural class

(3) moisture regime

(4) mineral class

Heavy metals are accumulated in
higher (large amount) amount when

irrigated with untreated sewage
(1) Wheat seeds (grains)

(2) Barley seeds (grains)

(3) Mustard seeds

(4) Leafy vegetables




85.

86.

87.

88.

el SE g Hue el ¥ e A
ST ST (THRITEH) H i @

(1) =t BOD, COD

(2) %9 BOD, COD

(3) W= BOD, COD

(4) SR COD

ST IE H THS W i F e TR
AT 2, I i B A d
et o ford e e B 2

(1) C2t

@ c#t

(3) Cro*

(4) TR e 73§ | i3 o 72 |

o Hfagalt o Ao e | e 6 A R
Y aTg TgeI A B @ ?
(1) CrdNi (2) ZndFe

(3) CudPb (4) ZndCu

B T § =9 (Blue) e fargm TS
it e 1 & o Tepsmart <6t atferss wen

&M % HRUTEIAT @ ?
(1) Cd (2) NO,~

(3) Pb (4) Ni

20

86.

87.

88.

Tannery and textile industrial effluents

are characterized by

(1) High BOD, COD
(2) Low BOD, COD

(3) Medium BOD, COD

(4) High COD

Tannery is treated with chromium (Cr)
which form of chromium is more

hazardous to animal and human being
(i) cr?
(7] crt
3) Crt*

(4) None of these

Metal finishing industries effluents are

rich in which heavy metals ?
(1) CrandNi (2) Znand Fe
(3) CuandPb (4) Znand Cu

Blue baby syndrome is caused by

excesses presence of
(1) €d (2) NO,

(3) Pb (4) Ni

01 (Agriculture Chemistry)



89.

90.

91.

92.

TS 3aTs ST fope Wi arq <6l =rae §
S AT EH B A R ?

(1) Pb (2) Ni

(3) Cd (4) Cr

=ferera Farra gHear USSR H el 83
oft oot iy iy qer sefia Sfigt it wrd
gfags oft 7

(1) it (2) HR=h

(3) =Hifae (4) $=

=1 & & =9 1 geifheher w1 et T
87

(1) ot Starer & stferesar
(2) el N auT THelt hl gaTy
(3) 3Th{Teh ferTedt g8 a1 < Tureran

(4) Ut qUT SHIfT | gur

o g 9 = o fie wred 1 6% & o
HHE Sa 9 g sEtH areH et 8 7

(1) N0 (2) CO,

3) SO, (4) NH;,

01 (Agriculture Chemistry)

21

89.

90.

91.

92.

The itai-itai disease is caused by higher

content of which heavy metal in rice ?

(1) Pb (2) Ni

(3) Cd 4) Cr

Nuclear Power Plant accident took
place which place in then USSR
causing great hazard to agricultural soil

and aquatic life :
(1) Beijing (2) Moscow

(3) Chernobyl  (4) Kieve

Which of the following is not result of

eutrophication?

(1) accumulation of algae
)
3)

high aquatic plant/fish mortality

detrimental change in water

quality
4

Improving the water quality and

good eco system.

Which of the following gas (green house
gas) contribute around 6.0% to the

anthropogenic green house effect ?

(1) N,0 ) CO,

(3) SO, (4) NH,4



93.

94.

95.

96.

s, (FieRs YW) w3
gratRra adietr § waor fasor & S
&1 o Fr=fifaa fFE MKS 318
R FA @ 7

OP =0.36 x EC

(1) St mmns wid Hiet
(2) e ufa | /il

(3) sl Ve uid |, HieX
(4) <4 e ufa 9. e

d gig % fodl oemy aifeem FeiHe
(R.S.C.) < gefera S (mel ") 31 9H
(1) <1.25(@mel) (2) <2.5 (mel™)

(3) <4.0(mel'l) (4) >4.0 (mel)

ey &1 frerer sTevasal (LR.) i
3R =T wiet Al 3.1, 4dsm! 9T ST

FrpE S S, 10 dsm! <l
(1) 20.5% (2) 35.4%

(3) 40.0% (4) 40.3%

Tyt i S ered <6 T 3 gfg e |
1 %01 e (P.D.)

(1) IS gftad T8 g & |
(2) Seara |
(3) vee Heal g R wean 2 |

(4) =ears |

22

93

94.

95.

96.

The relation between Osmatic Pressure
(bar or atmosphere) and electrical
conductivity for salt mixture 1is
OP = 0.36 x EC, the EC is expressed as
in MKS system

(1) dsm™
(2) mhos/cm
(3) p mhos/cm

(4) d mhos/cm

The safe limit of Residual Sodium
Carbonate (R.S.C.) mcl™! for the plant

growth is ?
(1) <1.25 mel™! (2) <25 mcl™!

(3) <40mcl™t  (4) >4.0 mcl™!

What will be the Leaching Requirement
(L.R.) of the given irrigation water
having EC 4 dsm™' when EC of
drainage water is 10 dsm™' ?

(1) 20.5% (2) 354%

(3) 40.0% (4) 40.3%

With the increase in organic matter of the
given soil the Particle Density A B I
(1) Does not change (No change)

(2) Increases

(3) First decreases and then increases

(4) Decreases

01 (Agriculture Chemistry)



97.

98.

29,

100.

A W Q@&Iﬁ'ﬂﬂ JfEEe g 97. Iron and aluminium oxides and
3@@%!33 g TE * wfre . hydroxides are the colloidal material of
which of the following nature ?
et wifcrerctt
1
() (1) Slowly reversible
(2) it ] ©) Slowlyiitevarsibls
(3) wicrerdt (3) Reversible
(4) Frfererdt (4) Irreversible
qal o fafy= A9t i amn Bl 8 98. What is the composition of soil air ?
(1) 0,-20%,N,-80%,CO,—0.21% (1) 0,-20%,N,-80%,CO,-0.21%
T 3P 0.90% and argon 0.90%
0.50% Td 3T 0.90% 0.50% and argon 0.90%
3) 0, — 22%, N, — 76.8%, CO, - S By = 2. D = 103 645 =
1.5% T 09507 1.5% and argon 0.95%
. 0 \?ﬂlli:i . 0
(4) O,-24%,N, - 74%, CO, - 2.0%
4) O, —24%, N, —74%, CO, —2.0% B
. and argon 1.5%
& A 1.5%
Tafire Zem <61 uftarsT 8 {6 e 6t a8 99. Specific heat may be defined as the
SRR 1 T el 6t fha arasEn amount of hefal required t:)) raise 1;hfc
temperature of one gram substance by
gaM & o 3ravTs 2 ?
(1) 1°F @) 1I°K
(1) 1°F (2 I°K
3) 1°C @) 0.1°F 3) 1°C (4) 0.1°F
Tepelt qeref <hl ST ST &rFdT I Bidt 100. The heat capacity of given material is
equal to its specific heat
2 34 ugrd < fafsre e &t weref H e _
ivided by the mass of given
(1) divided by th f
e E material
(1) T 24 0T (2) added' by the mass of given
material
(2) S| (3) multiplied by the mass of given
3) ﬂ“ﬁéh'{ef‘ﬂ | material
4) subtracted by the mass of given
(
(4) FEH W | material
23 O
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TEHEHE & e e/ SPACE FORROUGH WORK
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